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RELAÇÃO DO AÇO

B10 19xB20 4xP1

4xP3 4xP4 P5

4xP8 P10 2xP13

AÇO N DIAM
QUANT

C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 4 168 672

2 5.0 5 151 755

3 5.0 15 29 435

4 5.0 12 107 1284

5 5.0 15 97 1455

6 5.0 12 67 804

7 5.0 18 77 1386

8 5.0 3 77 231

CA50 9 8.0 5 346 1730

10 8.0 4 133 532

11 8.0 95 196 18620

12 8.0 38 188 7144

13 10.0 82 VAR VAR

14 12.5 4 165 660

15 12.5 8 VAR VAR

RESUMO DO AÇO

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10%

(kg)

CA50 8.0 280.3 121.6

10.0 67.2 45.6

12.5 13.8 14.6

CA60 5.0 70.2 11.9

PESO TOTAL

(kg)

CA50 181.9

CA60 11.9

Volume de concreto (C-30) = 3.48 m³

Área de forma = 29.68 m²
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